06 04 01

®
46,350 46,000 0| 260 0 0.56
R4 RS R10
81 R4 8 R0
81% 84 85
ot 40% 100%
(m3/ (m3/




R06 |R07 [R08 [RO9 [R10

A07-001 [ B BN A B ] 400
A07-002 | | u u | 210
A07-003 ] ] ] ] ] 1,400
A07-004 | | u u | 40
A07-005 | | u u | 700
A07-006 | | u u | 60




R06 |R07 [R08 [RO9 [R10

A07-007 [ I B A B | 470
A07-008 n n n n n 1,651
A07-009 [ I B A B | 350
A07-010 [ I B A B | 20
A07-011 [ I B A B | 240
A07-012 [ I B A B | 160




R06 |R07 [R08 [RO9 [R10

A07-013 n n n n n 15,160
A07-014 [ I B A B | 570
A07-015 n n n n n 3,980
A07-016 n n n n n 2,030
A07-017 [ I B A B | 680
A07-018 n n n n n 1,860




R06 |R07 [R08 [RO9 [R10

A07-019 [ I B A B | 380
A07-020 [ I B A B | 560
A07-021 [ I B A B | 40
A07-022 [ I B A B | 100
A07-023 [ I B A B | 480
A07-024 [ I B A B | 540




R06 |R07 [R08 [RO9 [R10

DOODOEE
I N




R06 |R07 [R08 [RO9 [R10




R06 |R07 [R08 [RO9 [R10

C07-001 [ B BN B B 160
C07-002 [ B BN B B 100
N 260

260 |




RO6

€)) 3,184

() 0

(c=a+b) 3,184
©) 2,054

© 3,054

® 2,184

@ 0

(h = c+d-e-f) 0
(i = (g+h)/(c+d)) 0
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